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Shri Shankaracharya Institute of Professional Management & Technology

Department of Information Technology
Class Test —I Session- Jan — June, 2020 Month-Feb

Sem- IT 4™
Subject- Telecom Switching and Computer Network
Code-333653(33)
Time Allowed: 2 hrs Max Marks: 40
Note: - All questions are compulsory.
Levels of
Q.N. Questions Marks Bloom’s COs
taxonomy
PART I
Define network topology and types of network
A. topologies? [71 | Understanding | CO1,CO2
Explain different type of cables used in computer
B. ' network with diagram. [7]1 | Understanding ~ COIl
C. Describe TCP/IP Model in detail. 6] | Uniderhuiee "
PART II
Differentiate between circuit switching and
A packet switching? [71 = Understanding Col
g | Explain OSI Model. 7 C01,Co2,
) [7] Understanding COo3
Write short notes on:
Understanding
C. a) DSL [6] coz
b)  DTEDEE :

All the best




Shri Shankaracharya Institute of Professional Management & Technology
Department of Information Technology
Class Test—1 Session- Jan — June, 2020 Month-February
Sem- IT 4™, Subject- Computer Organization and Architecture, Code- 333456(33)

Time Allowed: 2 hrs Max Marks: 40
Note: - In Unit 1, Question A is compulsory and attempt any two from B, C & D. Unit Il is compulsory.

: Levels of Bloom’s
Q.N. Questions Marks taxonomy COs
Unit I
"8 Can' you diffrenciate computer organization and computer 3] Bl Col
architecture.
B. | Illustrate interrupt cycle. [8] Understanding S
Explicate common bus system. Also explain in brief various types of Understanding Co1
C. : (8]
registers.
D. | Describe various types of memory reference instructions. [8] pipertindre G
Unit IT
ik Ca}n you diffrenciate fixed point arithmetic and floating point 3] Ddetstanding co2
arithmetic?
Perform the operation: (10) X (10)=100
B. | With Booth algorithm with signed magnitudes. Also, show the | [10] Applying CO2
hardware implementation and hardware algorithm.
C. Illustrat.e the division for fixed number with algorithm and [8] Undessaniding o2
appropriate example.
Shri Shankaracharya Institute of Professional Management & Technology
S,S‘lf;fgg@ Department of Information Technology
;o Class Test—1 Session- Jan — June, 2020 Month-February
Sem- IT 4™, Subject- Computer Organization and Architecture, Code- 333456(33)
Time Allowed: 2 hrs Max Marks: 40
Note: - In Unit I, Question A is compulsory and attempt any two from B, C & D. Unit II is compulsory.
Q.N. Questions : Marks Batal A Blaeins COs
taxonomy
Unit I
Can you diffrenciate computer organization and computer ;
A. Sickibatise [3] Understanding COl1
B. | Illustrate interrupt cycle. [8] Understanding e
Explicate common bus system. Also explain in brief various types of Understanding CO1
C. : (8]
registers.
D. | Describe various types of memory reference instructions. [8] Ditapnding el
Unit II
Can you diffrenciate fixed point arithmetic and floating point ;
A. o hatc? [3] Understanding CO2
Perform the operation: (10) X (10)=100
B. | With Booth algorithm with signed magnitudes. Also, show the | [10] Applying CO2
hardware implementation and hardware algorithm.
Illustrate the division for fixed number with algorithm and :
& appropeiate sxample. [8] Understanding CO2




Sswr 2 Shri Shankaracharya Institute of Professional Management & Technology
Department of Information & Technology
Class Test—1 Session- Jan — June, 2020 Month-Feb.
Sem-4™ Subject-Computational mathematics Code-333451(14)

Time Allowed: 2 hrs Max Marks: 40

Note: - All questions are compulsory.

Levels of
Q.N. Questions Marks Bloom’s COs
taxonomy
Unit I

1. . Write formula for secant method. [2] | Remember | CO1
Find a real root correct up to 3 places of decimals for the :

2 : 2 6 Appl 01
equation xe* = cosx, by Regula-falsi method. [61 e (€
Apply Newton Raphson’s method to determine a root of

3. equation ©0S¥—3x-1=0 q 00 up to 4 places of [ Applying | COIl
decimals.

Apply Birge-Vieta method to find root correct up to 3

4. places of decimals for the equation x°—x'—x’—1=0. [6] Applying  CO1

Initial value for root is1.5.
Unit I1
Apply Gauss Jordan’s method to find the solution for

. [ WOx+y+z2=12 2x+10y+2=13, [2] Applying CcO2
Xty4+sz -]

Using Crout’s method solves the equations .

> x+5y+z=14,2x+p+32=133x+ y+dz=17., I8 | “Appbumg ) OO0
Find the solution of system of linear equation using

3. | Gauss-Siedal method correct up to 3 places of decimals. [6] Applying = CO2
6x+15y+22=72,x+y+54z=110,27x+6y -z = 85.

Solve the system of equations by relaxation method: ;
M 2y 2:=6 510y 0= i pil0rag, (1.  apphing | €02
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